
 

Hobie Cat Company 
Holding Company 

Oceanside, California, USA 

1-800-HOBIE-49 

Hobie Cat Australasia 
Subsidiary 

Huskisson, New South Wales, Australia 

1-800-4-HOBIE 

Hobie Cat Europe 
Subsidiary 

Toulon, France 

+33 (0) 494 08 78 78 

Hobie Kayak Europe 
Independent Distributor 

Stellendam, The Netherlands 

+31 (0) 187 499 440 

Hobie Cat Brasil 
Independent Distributor 

Porto Belo, Santa Catarina, Brazil 

+55 (21) 3942 6815 
 

 

Hobie.com 

 
 
 
 

 
Hobie® Mirage® 

Passport 10.5 Parts Guide 



77800054 

 

 

 
3/16” Black Shockcord 
RS316BLK 

 

 

Tube Accessory Mount 

77800053 
Tube Accessory Gasket 
77800066 

 

 
 

 
8” Twist-N-Seal Hatch 
77800020 
8” Round Hatch Gasket 
71331001 

 
 

 
Flat Mount Track 
77800052 

Mirage Passport 10.5 Handle Assy 
77800054 

 

 
HCWW Gold Dome Decal 

72542001 

 

 

 
Padeye Hook 

77800058 
 

 
 

 
 

 
Mirage Well Top Assy 

77800051 
Mirage Well Bottom Assy 

77800050 

 

 
3/16” Black Shockcord 
RS316BLK 

 

 

Tube Accessory Mount 

77800053 
Tube Accessory Gasket 
77800066 

 

 
Flat Mount Track 
77800052 

 

 
8” Twist-N-Seal Hatch 
77800020 
8” Round Hatch Gasket 
71331001 

 

 
EVA Floor Pad,Left 
77800095 

Mirage Passport 12.0 Handle Assy 

HCWW Gold Dome Decal 
72542001 

 
Padeye Hook 

77800058 
 

 

 
 

 
Mirage Well Top Assy 

77800051 
Mirage Well Bottom Assy 

77800050 

 

 
Tackle Bungee Assy 

77800094 

 

 
Side Carry Handle 
77800062 

 
Steering Handle 
77800036 
Dome Decal, Handle 
88991151 

Steering Crank 
77800038 

ADJ Shockcord Hook 
72104001 

 

 

 
 

 
Hobie Script Decal 

77800085 

 

 
Side Carry Handle w/ Bungee 

77800063 

 
Side Carry Handle 
77800062 

 
Steering Handle 
77800036 
Dome Decal, Handle 
88991151 

Steering Crank 
77800038 

EVA Floor Pad,Right 
77800093 

 

 
ADJ Shockcord Hook 

72104001 

 

 
Hobie Script Decal 

77800085 

 
Side Carry Handle w/ Bungee 

77800063 

 

 

 

 

 
Steering Rod Assy 10.5 
77800041 

Rod Holder 
77800055 
Rod Holder Gasket 
77800065 

 
 

 
 

 

 
 

 
 

 

 

 
Screws: 

Lock Knob, Seat 
77800057 

 

 

 
Passport 10.5 Decal 

77800074 

 

 
Passport Drain Plug 

52802 

 

 
Steering Rod Assy 12.0 
77800033 

Rod Holder 
77800055 
Rod Holder Gasket 
77800065 

 
 

 
Push Rod Grommet 
77800040 

 
 

 
 

 

 
 

 
 

 

 
 

 
Screws: 

Lock Knob, Seat 
77800057 

 

 
Passport 12.0 Decal 

77800075 

 
Passport Drain Plug 

52802 

 
Push Rod Grommet 
77800040 

 
 

 

 
Keel Guard (on bottom side of kayak) 
77800059 

Screw #14 X 3/4” PHSMS 
8031891 

Screw #8 x 1” FHSMS 

2 8031511 

 
 

 
Fish Finder Plate 
(on bottom side of kayak) 
77800046 

 
 

 

 
Keel Guard (on bottom side of kayak) 
77800059 

Screw #14 X 3/4” PHSMS 
8031891 

Screw #8 x 1” FHSMS 

2 8031511 

1 1 

https://westcoastsailing.net/hobie-passport-handle-assembly-77800054/
https://westcoastsailing.net/5mm-shockcord-black/
https://westcoastsailing.net/hobie-passport-accessory-tube-mount-77800053/
https://westcoastsailing.net/hobie-passport-mast-base-gasket-77800066/
https://westcoastsailing.net/hobie-twist-n-seal-hatch-8-inch/
https://westcoastsailing.net/kayak-hatch-8-gasket/
https://westcoastsailing.net/hobie-passport-flat-mount-deck-track-77800052/
https://westcoastsailing.net/hobie-passport-handle-assembly-77800054/
https://westcoastsailing.net/hobie-kayak-dome-decal-hcc-gold/
https://westcoastsailing.net/hobie-passport-mirage-well-top-assembly-77800051/
https://westcoastsailing.net/hobie-passport-mirage-well-top-assembly-77800051/
https://westcoastsailing.net/5mm-shockcord-black/
https://westcoastsailing.net/hobie-passport-accessory-tube-mount-77800053/
https://westcoastsailing.net/hobie-passport-mast-base-gasket-77800066/
https://westcoastsailing.net/hobie-passport-flat-mount-deck-track-77800052/
https://westcoastsailing.net/hobie-twist-n-seal-hatch-8-inch/
https://westcoastsailing.net/kayak-hatch-8-gasket/
https://westcoastsailing.net/hobie-kayak-dome-decal-hcc-gold/
https://westcoastsailing.net/hobie-passport-mirage-well-top-assembly-77800051/
https://westcoastsailing.net/hobie-passport-handle-side-no-bungee-77800062/
https://westcoastsailing.net/hobie-passport-steering-handle-77800036/
https://westcoastsailing.net/hobie-kayak-steering-handle-dome-decal-8899115/
https://westcoastsailing.net/hobie-passport-steering-crank-77800038/
https://westcoastsailing.net/hobie-passport-handle-side-with-bungee-77800063/
https://westcoastsailing.net/hobie-passport-handle-side-no-bungee-77800062/
https://westcoastsailing.net/hobie-passport-steering-handle-77800036/
https://westcoastsailing.net/hobie-kayak-steering-handle-dome-decal-8899115/
https://westcoastsailing.net/hobie-passport-steering-crank-77800038/
https://westcoastsailing.net/hobie-passport-handle-side-with-bungee-77800063/
https://westcoastsailing.net/hobie-passport-rod-holder-gasket-77800065/
https://westcoastsailing.net/hobie-passport-decal-105-77800074/
https://westcoastsailing.net/hobie-passport-drain-plug-52802/
https://westcoastsailing.net/hobie-passport-rudder-steering-rod-assembly-77800033/
https://westcoastsailing.net/hobie-passport-rod-holder-gasket-77800065/
https://westcoastsailing.net/hobie-passport-decal-12-77800075/
https://westcoastsailing.net/hobie-passport-drain-plug-52802/
https://westcoastsailing.net/hobie-passport-keel-strip-77800059/
https://westcoastsailing.net/screw-14-x-3-4-p-phsms/
https://westcoastsailing.net/screw-8-x-1-fhsms/
https://westcoastsailing.net/hobie-passport-keel-strip-77800059/
https://westcoastsailing.net/screw-14-x-3-4-p-phsms/
https://westcoastsailing.net/screw-8-x-1-fhsms/


Passport Accessory Parts Passport Mirage Well Parts 
Passport Seat Assy 
77800010 

 
 

 
 

 
 

 

 
 

 
Seat Bottom Mesh 
77800013 
Seat Back Mesh 
77800015 

Passport Paddle 
77800056 

 
 

 
 

 
Passport Cassette Plug 

81538 

Rudder Pivot Screw 
8030750 

Rudder Housing 
77800032 

Locking Nut 
8050101 

Rudder Pin 
77800039 

Steering Pivot Screw 
8030281 

Rudder Mount 
77800037 

Steering Pivot Nut 
8050210 
Rudder Steering Pivot Assy 
w/ Knob 
77800035 

Rudder Assy 
77800030 

 
 

 

 
 

 
 

 
 

 

 
 

 
Rudder Blade 

77800031 

 

 

 

 
Mirage Well Top Assy 

77800051 

 
Mirage Well Bottom 

77800050 

 

 

 
 

 
Cam, Mirage Well 

79050011 

Cam Spring Port/Left 
98100016 

Cam Spring Starboard/Right 
98100017 

 
Washer 1/4 X 5/8 SS 

8080541 

Cam Shoulder Bolt 
98100009 

 

 
Reflective MD Pedal Decal 
1254030 

MirageDrive®  Classic 
MirageDrive Classic Assy 

800137 

 
Reflective MD Pedal Decal 
1254030 

MirageDrive® GT Kick Up 
MirageDrive GT Kick Up Assy 

77800200 

 

Pedal Pad Kit 
72020034 

 

 
Left Pedal Assy 
81228002 

 
Pedal Adjustment Decal 
81172001 

 
Idler Pulley Wire 
81203001 

 
Idler Pulley 
81124 

 
Idler Pulley Shaft 
81110001 

 

 
Mirage Drive Drum Shaft 
81090001 

 

 

Sprocket Shaft 

81080001 
 

 
Chain Lock Nuts 
8050111 

Idler Pulley/Sprocket Shaft Set Screw 
53170020 

Right Pedal Assy 
81228001 

Drum, NON RR 
811751 

 

 
Bolt 

81155001 
 

 
Spine Mirage Drive 

81181001 

 
Chain Assy 

81202001 
 

 

Sprocket Assy 

Outhaul Block 
81050001 

 
Fairing Screw 

8031451 

 
Fairing Guard FWD 

81055001 

Sprocket 
81128 

 
Mast 

81163001 

Mirage Fin ST Assy 
81193001 

Pedal Pad Kit 
72020034 

 

 
Left Pedal Assy, GTKU 
77800130 

 
Pedal Adjustment Decal 
811330 

 
Idler Pulley Wire, MDGTKU 
77800160 

 
Idler Pulley 
81123001 

 
Idler Pulley Shaft 
81110001 

 

 
Mirage Drive Drum Shaft 
81090001 

 

 

Sprocket Shaft 
81080001 

 

 
Chain Lock Nuts 
8050111 

Idler Pulley/Sprocket Shaft Set Screw 
53170020 

 
 

 
 

 

 
 

 
 

 

 
 

 
 

 
 

 

 
 

 
 

 

 
 

 
 

 

 
 

 
 

 
 

 

 

 
Mirage Fin STD KU 

77800190 

Right Pedal Assy, GTKU 
77800140 

Drum, GTKU 
77800112 

 
Bolt 

77800115 
 

 

 

 
Spine Assy, Mirage Drive MDGTKU 

81542 

 

 
Chain Assy, MDGTKU 

77800150 

 

 

Sprocket Assy 
 

 

 
Sprocket Guard, MDKU 

77800124 

Spocket, GTKU 
77800123 

Screw, Mast Link 
77800116 

Kickup Set Screw 
77800204 

Mast Link MDGTKU/Mast, 
77800114 

https://westcoastsailing.net/hobie-passport-seat-bottom-mesh-77800013/
https://westcoastsailing.net/hobie-passport-seat-back-mesh-77800015/
https://westcoastsailing.net/hobie-passport-paddle-assembly-aluminum-77800056/
https://westcoastsailing.net/hobie-eclipse-cassette-plug/
https://westcoastsailing.net/hobie-passport-rudder-housing-77800032/
https://westcoastsailing.net/nut-1-4-20-nylock-lopro/
https://westcoastsailing.net/hobie-passport-rudder-pin-77800039/
https://westcoastsailing.net/screw-10-32-x-3-4-rhms-p-ss/
https://westcoastsailing.net/hobie-nylock-nut-10-32-lopro/
https://westcoastsailing.net/hobie-passport-rudder-pivot-assembly-77800035/
https://westcoastsailing.net/hobie-passport-rudder-assembly-77800030/
https://westcoastsailing.net/hobie-passport-rudder-blade-77800031/
https://westcoastsailing.net/hobie-passport-mirage-well-top-assembly-77800051/
https://westcoastsailing.net/hobie-kayak-clickngo-well-cam-lever/
https://westcoastsailing.net/washer-1-4-x-5-8-flat-ss/
https://westcoastsailing.net/hobie-mirage-drive-v2-idler-cable/
https://westcoastsailing.net/hobie-mirage-drive-number-5-shaft/
https://westcoastsailing.net/mirage-drive-v2-drum-shaft/
https://westcoastsailing.net/hobie-mirage-drive-sprocket-shaft/
https://westcoastsailing.net/nut-1-4-20-hx-nylock-1/
https://westcoastsailing.net/hobie-screw-1-4-20-x-1-2/
https://westcoastsailing.net/mirage-drive-drum-bolt/
https://westcoastsailing.net/hobie-mirage-drive-v2-chain-assembly/
https://westcoastsailing.net/screw-8-32-x-5-16-p-thms-ss/
https://westcoastsailing.net/mirage-drive-v2-threaded-mast/
https://westcoastsailing.net/hobie-mirage-drive-st-fin-gray-black/
https://westcoastsailing.net/mirage-drive-drum-idler-pulley/
https://westcoastsailing.net/hobie-mirage-drive-number-5-shaft/
https://westcoastsailing.net/mirage-drive-v2-drum-shaft/
https://westcoastsailing.net/hobie-mirage-drive-sprocket-shaft/
https://westcoastsailing.net/nut-1-4-20-hx-nylock-1/
https://westcoastsailing.net/hobie-screw-1-4-20-x-1-2/
https://westcoastsailing.net/hobie-mirage-drive-kick-up-fin-standard-77800190/
https://westcoastsailing.net/hobie-mirage-drive-kick-up-sprocket-77800123/
https://westcoastsailing.net/hobie-mirage-drive-kick-up-mast-link-pivot-screw-77800116/
https://westcoastsailing.net/hobie-mirage-drive-kick-up-set-screw-77800204/

